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Monopoly Notes
A monopoly occurs when there is one supplier of a good in a market. This one supplier has price setting power over their customers. 

What allows this company to maintain their power is barriers to entry. In a perfectly competitive market profits attract new companies into the industry; in a monopoly new companies can not enter because of the barriers to entry. Therefore, monopoly companies can continue earning profits into the long run because no other company can compete with them.

The barriers to entry could be legal – patents, copyright laws, franchise rights. Or they could be financial – high start-up costs, or technical – economies of scale, or based on some productivity advantage.

The product produced by the monopoly has no close substitutes, which means it is hard to replace it with another product – such as electricity. Monopolies have a lot of power over their customers; the government typically intervenes in the market to counter the power of the company. The government can regulate price, or quantities produced. 

In a monopoly the firm is the industry. Q = q. 

Also, marginal revenue is different than price. To sell the product to an additional customer the monopoly has to lower their price.

Monopolies – numerical example
In order to sell more of the product the supplier must lower the price.

Every buyer of the product pays the same price for the good.

	Price
	Quantity
	TR
	MR
	TC
	MC
	TR-TC

Profit
	Additional

profit per unit sold

	15
	2
	30
	
	15
	
	15
	

	14
	3
	42
	12
	23
	8
	19
	4

	13
	4
	52
	10
	30
	7
	22
	3

	12
	5
	60
	8
	37
	7
	23
	1

	11
	6
	66
	6
	43
	6
	23
	0

	10
	7
	70
	4
	50
	7
	20
	-3

	9
	8
	72
	2
	58
	8
	14
	-6

	8
	9
	72
	0
	67
	9
	5
	-9

	7
	10
	70
	-2
	77
	10
	-7
	-12


Why is the marginal revenue line below the demand line?

Let’s assume that at a price of 15 the company sells 2 units. 



Starting price

New price

marginal revenue

Unit 1 brings in $15


$14


-$1

Unit 2 brings in $15


$14


-$1





Unit 3
$14


$14
Total revenue is $30


$42


$12

If the company wants to sell another unit they have to lower their price to $14. But, the two customers who were paying $15 now only have to pay $14. Look at the example above. The company loses one dollar on the sale of unit 1, one dollar on the sale of unit 2, but gains $14 on the sale of unit 3. Their total revenue went from $30 to $42. The change in total revenue (12) divided by the change in quantity (1) is is $12.

Since the point on the demand curve is the price ($14), the point on the marginal revenue curve is below the price ($12). 

The company lost revenue on the first two customers but gained revenue on the third customer. They will only make the exchange is the marginal revenue – which represents the money coming in – is greater or equal to the marginal cost – the cost of getting the product to the customer. 

Profit is maximized at the quantity where MR = MC. 
Unlike the perfectly competitive firm, the monopolist has two decisions to make, what price to charge and what quantity to sell?

They find the answer to both of these questions from the intersection of marginal cost and marginal revenue.
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The way to find Q* is to find the point where MR = MC, go down to the quantity axis.

The way to find P* is to find the point where MR = MC, go up to the demand curve, then go left to the price axis.

After finding P* and Q* you have what you need to find the profit (loss) area.  Find the average cost when the quantity produced is Q*, then draw a line to the left over to the price axis.  The price axis also measures costs.

Your turn to practice.
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Assume that the graph above is for a firm in a monopolistic industry. Note, the marginal revenue curve is below the demand curve.
a. Mark the profit maximizing price with a P*.

b. Mark the profit maximizing quantity with a Q*.

c. Show the profit area 

d. What is the area of dead weight loss? - later
P* is the price the monopolist should charge.

Q* is the quantity the monopolist should produce (sell).

